FER21FIAT ERERGRERR

(ER27%10A18IRE)
AR AER
1 ANARUHTEE E=)1ET
X 4 B = S HH
Bl B + 15,951 + 15412 + 31,363 + 11,172
4§ H 16 15,967 10 15,422 26 31,389 18 11,190
2 EFE
#“H4 H41 AB e “4 H2 AE E
57
B A 66 102 7 HEEEE 12 >
£:4 45 Z
39 1
x 54 74 > =5 B 3 6 >
£:4 35 Z 5]
g 26 5
L 30 59 HHEE 6
= | 33 | %
g 5
BxH EUH [ &
3 % %
BEAESDE > % H >
Z Z
1
B HESEBR 1 1 > 1% 1k i
Z Z
3 FE£RBR)
%4 B2 ABE e #4 1“5 AB =
10
H & 19 19 > i
Z 9 i
12
3 T 20 20 i 7
Z 8 i
4 MIBZEEE
X5 g2 8 B = —tHEH-UDOAER
F= 7,253 6,853 14,106 5,468 2.81
. i 4,207 4136 8,343 2,699 WAOBELL
BHA 4,507 4433 8,940 3,023 ES 50.9%
&5t 15,967 15,422 31,389 11,190 z 49.1%




